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a— e | 5, 5% B | (o) el | e | Pm | wm | EH D
Y3002 =4 (FEAD) 2,830 1,620 281 281 | BN 3kg
Y3011 BAANT (B) 4 1,782 540 540 162 BH 4kg
39630 Ewo~A ¥ 1, 264 81 81 65| B 173
31900 ¥ 14 11, 837 1,404 864 324 BN l4kg
34330 £ 16 3, 289 54 43 28 B 80A
34400 bk 11 5, 875 562 562 486 | BN 11kg
34100 #JK 16 3, 456 43 43 43 | BN 80A
34500 bE—= 44 3, 240 76 76 32 BN 44kg
34500 v—~ 52 7, 285 43 43 38 BN 17348
Y3033 ZEHHL 81 28, 588 400 378 162 | BN 8lkg
36200 e 60 17, 064 292 292 270 | B 60kg o
36600 7-FErE 60 12, 960 216 216 216 | B 60kg
34930 LA 84 18, 932 97 76 REAN=1 2814
34980 ~bHE 4 1,382 119 119 86 &N IRYN
35940 EIEIEAE 94 75,924 918 810 540 | BN 94kg
Y3030 PEfEAE () 1 1,728 1,728 1,728 1,728 BN 1kg
34800 BL b 21 18, 036 97 97 =1 209% v k
Y4010 /NEF U 72 10, 519 324 270 270 | B 361H
Y4003 —=a—Anyr 5 2, 300 146 146 140 | B 16{#
49470 Ry g T A—Y 90 59, 767 130 59 38 BN 8981
71011 A7 L—% 31, 817 54 43 5 BA 1, 1004
71030 KZ &7 1,512 76 76 76 BN 204
71032 FZ &7 () 2,916 97 97 97 BN 30K
71150 | Ui 3, 780 108 108 108 | & 353
21179 ¥ b 1, 080 108 108 108 | &P 103K
53101 1F L KHR 1 702 1, 404 1, 404 1,404 | BH 1kg
30100 W\ Z A 60 13, 781 248 216 216 AtifEE 627
30300 A% 90 15,660 1,782 1,728 1,674 H& 9r—=
30300 A% L 50 11,340 | 2,268 2,268 2,268 Kl 5Hr—=A |
130600 LA A 2L 2 378 378 378 378 | B 14— 2
31100 H3 L 120 13,932 1,836 1,728 1,728 E% 84— A
33500 ¥ A 356 59 59 59 1&[ 645
33810 FHREX 3, 024 3, 024 3,024 3,024 EIRE 17—
33810 HHEE 2, 592 130 130 130 | IR 204
37440 Wb 896 896 896 896 | FEIE & 1r—2=
31700 F ¥ 240 25, 218 1,296 972 918 | BEEB 2477 — A
31730 7' U —rAR—L 10 540 540 540 540 IR 17r—=
31800 15 ALAE 8 5, 508 140 140 135 | IR 4048
31950 H#AE M 2, 592 2, 592 2,592 2,592 K4y 17—
31900 RAE 15 9,504 432 432 173 BB 303K (5009)
32800 125 5 2, 268 65 43 38 IR 503
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sh o - Gt ik - ZH
a—F i itk | PERR (kg) @8WM) | mm | dm em | FE M (HAL)
34400 k= h 20 9,936 2,160 1, 944 1,944 HEA 57—
34460 I =L F & S 14 10, 109 140 140 140 EER B 2390
34467 A Tm—3I =k~ | L 5 3, 294 140 135 135 HEA 24,3y 7
33400 L& =% L 38 11, 275 97 86 86 | K& 126{&
33600 Sk Y 1 972 324 324 324 | R % RES
33300 Ymy Y — 2 1, 080 135 135 135 EEVL 81E
33300 Zmy ol — 3, 240 162 162 1627 AU B 20{H
38100 A LWzt 3, 348 97 97 70 | B I 403> 7
34764 T—NL KT v a 2L 16 1, 404 54 11 11| Rk 5278
34930 LA v 8 903 24 24 24 BEIRE 387K
34980 ~b=E 5 583 54 54 5 BEIRE 184
31310 A3 4 2,592 130 130 130 | & [l 2048
31500 /NAZE 12 6,912 119 119 108 | IR 6048
32500 HoF 1 648 65 65 65 B S 103K
34600 LLEIABL 2 1,145 65 57 57 BERE 204%
37560 BRI 1 3, 456 432 432 432 | R4y 8%y s
38400 2D EH 5 1,296 1,296 1,296 1,296 K& 17 —3
38400 2 DEH 10 2,916 32 32 25 | Rl 10048
38521 B L®UE 6 4, 050 86 86 43 | 1@ [ 604
Y4008 N7 R TN A 6 5,184 270 270 248 |18 2073y 7
41410 LEv 15 10,260 | 10,260 10,260 10,260 |5V 1r—2A
45220 T U =T 4 2, 808 1, 404 1, 404 1, 404 & 24— A
Y4010 /hEF A 2L 24 3, 629 302 302 302 | fiE 121
49100 SNFF 120 23,220| 2,808 2, 160 2,160 ;‘/ Fxy 107 —=
49100 NFF 24 7,776 3, 888 3, 888 3,888 74 UKL 24 —2
44700 F = Y — 5 3, 802 238 238 238 | LI’ 1673y 7
71020 AA b 10, 379 108 65 32 | KIRIF 19074
Z1189 A b 432 11 11 11 | KBRAF 404
71190 ¢ 2, 797 2,797 2, 797 2, 797 | KFRHF 1K
71231 H—~3F 540 11 11 11| KERAF 504
21248 Vv Ry 7,452 54 32 22 | KRR 2004
Y5006 EHF (B4F) 130 37,562 3,056 3,056 2,732 BEIRS 134 — 2
Y5006  #HUF (B544) 56 14, 278 183 183 166 | FE V2 5 80,3y 7
- B 1,896 636, 732




